
MATHS  ASSIGNMENT 

CLASS II 

WORD PROBLEMS 

Solve the following word problems. 

1.Ex- Each packet has 96 chocolates. How many                            

chocolates will 7 such packets carry ? 

    Statement                                         T        O 

No. of Chocolates a packet has = 96                              4         

No. of Chocolates in 7 packets  = 96 x 7                        9          6 

Therefore, there are 672 Chocolates in                         X         7 

 7 such packets.                                                                   6   7    2 

 

2.Ex-   A man sells 203 tickets every day. How many tickets 

does he sell in 8 days ? 

Statement                        H     T     O 

No. of tickets a man sold every                              2 

day = 203                                                             2     0      3 

No. of tickets he sold in 8                                       X      8 

days = 203 X 8                                                    1   6   2   4 

Therefore, he sold 1624 tickets in 8 days. 



Q1.  Do work sheet number 3  

word problems 1 to 5 in your maths work book. 


